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The City School

Boys Campus North Nazimabad

Mathematics Worksheet

`Class 11 
Name:________________________________

Class/Sec:________________________

Indices, Surds and Standard Form

1. (a)
Find the value of 34 x 35, giving your answer as a power of three.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
(b)
Express 92 as a power of three.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
(c)
Evaluate 37 ( 32, as a power of three.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
(d)
Find the value of 
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.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
2. (a)
Evaluate 30.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
(b) Evaluate 78 giving your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
3. The population of Cyprus is 6.03 x 105.  The total number of crimes reported to the police is 1995 was 1.15 x 104.

Find the number of crimes reported per 1000 of the population.

Give your answer to three significant figures.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
4. Use the formula a2 = b2 + c2 to find the value of a when b = 5 and c = 6.

Leave your answer in surd form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
5.
Use the formula 
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to find the value of x when a = 5, b = 11 and c = 3.

Leave your answer in surd form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
6.
The world harvest of garlic is 20 000 tonnes every day.

(a) How much garlic is harvested in one year?

Take a year to be 365 days.

Give your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
France produces 5.29 x 104 tonnes of garlic in a year.

(b) What percentage of the world total is produced by France?

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
7.
Evaluate 6002, giving your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
8.
The population of Spain is 3.6 x 107 and there are 1.2 x 105 doctors in Spain.

Calculate the average number of people per doctor.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
9.
In 1998 it was estimated that there were 1.14 x 107 births in the world each month.

There were 4 440 000 deaths each month.

How long would it take, in months, for the number of people in the world to increase by 100 million?

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
10.
p = 5 x 1011
q = 4 x 10-6
(a) Evaluate 
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Give your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
(b) Evaluate 
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Give your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
11.
On holiday in Turkey, Clive buys a carpet costing 2.52 x 108 Turkish lire.

The exchange rate is 4.49 x 105 Turkish lire to £1.

(a) What is the cost of the carpet in £’s?

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
Clive is given a rebate of $119.00 because he is taking the carpet out of Turkey.

The exchange rate is $1.68 to £1.

(b) What is the rebate as a percentage of the cost of the carpet?

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
12.
Evaluate 300 x 4000, giving your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..

13.
The population of England and Wales is 4.92 x 107.

The population of Scotland is 5.13 x 106.

What is the population of England, Scotland and Wales.

Give your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
Without a calculator

14.
(a)
Work out the value of 43.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..

(b)
Find the value of 0.0032, giving your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
15.
u = 5 x 103, v = 7 x 106.


Evaluate uv, giving your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
16.
Find the value of 0.003 x 0.0002, giving your answer in standard form.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
17.
(a)
Find the value of 24.

…………………………………………………………………………………………………

Answer…………………………..
(b)
Find the value of 303.

…………………………………………………………………………………………………

…………………………………………………………………………………………………

Answer…………………………..
Answers

1.
(a)
39
(b)
34
(c)
35
(d)
3

2.
(a)
1
(b)
5 764 801 = 5.764801 x 106
3.
19.1

4.
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5.
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6.
(a)
7.3 x 106
(b)
0.72%

7.
3.6 x 105
8.
300

9.
14.4 months

10.
(a)
2 x 106
(b)
1.25 x 1017
11.
(a)
£561.25
(b)
12.6%

12.
1.2 x 106
13.
5.433 x 107
14.
(a)
64

(b)
9 x 10-6
15.
3.5 x 107
16.
6 x 10-7
17.
(a)
16

(b)
27 000
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